
       Exploded Spare PM34

Specification subject to change without prior notice 
numatic.com ©  Numatic International Limited

Numatic International Limited, 
Chard, Somerset, TA20 2GB 
Telephone: 01460 68600 
Fax: 01460 68458

UNITED KINGDOM: numatic.com      GERMANY: numatic.de FRANCE: numatic.fr

NETHERLANDS: numatic.nl SWITZERLAND: numatic.ch      SOUTH AFRICA: numatic.co.za

PORTUGAL: numatic.pt SPAIN: numatic.es

Notes:-

1. See page 2 of 2 for items list and part numbers.

1 of 2

PM24 Exploded Details

   Revision        A01

1

27
4

EXP-002020 02/23(A01)

2

2

3

3

4

4

5

6

6

7

7

8

8

9 10

14

14

14

14

15

16

16

15

17

17

17

19

18

18

19

19

20

20

20

20

21

21

21

22

22

22

22

23

23

23

23

24

24

24

25

25

26 26

26

26

26

27
4

27
4

27
4

27

27

27

28

28

28

28

29

29

29

29

27

30

30

30

23 28

910

11

11

12

1213 13



Item Number Item Description Part Number Item Quanity

1 Large base - black reflo 910011 1

2 Base extension - black 910035 2

3 Rear upright frame welded assembly - stainless steel 908643 2

4 Upright frame welded assembly - stainless steel 913656 2

5 Upright frame welded assembly - stainless steel 913715 1

6 Rear swing out waste bin - black reflo 910236 2

7 Tiebar - stainless steel 913720 2

8 Clip on tray - black 910012 2

9 Bag support moulding 911934 2

10 Bag support frame (without lugs) 911929 2

11 Bag frame insert 910615 2

12 Lid moulding 912506 2

13 Colour code disc dark grey 223124 6

14 Side panel - black 910013 4

15 Door ‘A’ assembly 909426 2

16 Door ‘B’ assembly 909428 2

17 5” Castor - metal 204113 6

18 5” Braked castor - metal 204114 2

19 Buffer moulding 227479 4

20 M8 Nylon insert nut 219070 4

21 M10 Nylon insert nut - stainless steel 219897 4

22 M8 Form ‘A’ washer - stainless steel 219578 4

23 M8 Form ‘C’ washer 221154 10

24 M10 Form ‘A’ washer - stainless steel 219903 4

25 No 6 x 1” Long pozi pan screw 219602 4

26 No 8 x 1 & 1/2”  Long raised countersunk self tap screw 219839 6

27 M5 x 16mm  Long pozi pan screw - stainless steel 219547 20

28 M8 x 25mm Long socket bolt - Z/PL 219555 10

29 M8 x 75mm Long hex head bolt - stainless steel 291123 8

30 M10 x 40mm Long socket button head bolt - stainless steel 909100 4

PM24 Items Table & Part Numbers

      Exploded Spare PM34

Specification subject to change without prior notice 
numatic.com ©  Numatic International Limited

Numatic International Limited, 
Chard, Somerset, TA20 2GB 
Telephone: 01460 68600 
Fax: 01460 68458

UNITED KINGDOM: numatic.com      GERMANY: numatic.de FRANCE: numatic.fr

NETHERLANDS: numatic.nl SWITZERLAND: numatic.ch      SOUTH AFRICA: numatic.co.za

PORTUGAL: numatic.pt SPAIN: numatic.es

2 of 2

Notes:-

1. See page 1 of 2 for exploded details.

   Revision        A01

EXP-002020 02/23(A01)


